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QUESTION 1

Which are two benefits of IBM Cloud Functions? (Choose two.)
A. Scale up or down automatically

B. Visual debugging

C. Based on Kubernetes

D. Focus on code, not infrastructure

E. Out-of-the-box connectors to several databases

Correct Answer: AD

QUESTION 2
What is IBM App Connect in IBM Cloud?

A. A tool used to increase operational reliability and agility by using event-driven guidance, automation, and notification
to prompt the right activity to resolve important issues

B. A tool used to integrate your cloud-based or on-premises applications for data transformation and automate repetitive
tasks

C. Atool used to address system management needs that are useful to cloud-based applications
D. A tool used to improve operational efficiency by using real-time analytics to identify and resolve problems faster

Correct Answer: A

QUESTION 3

Which two of the following can be managed by IBM Cloud SSL Certificates? (Choose two.)
A. Certificate Service Requests (CSR)

B. SSL certificates not imported into IBM Cloud

C. SSL certificates imported into IBM Cloud

D. Self-signed SSL certificates

E. SSL certificates ordered in IBM Cloud

Correct Answer: AC
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QUESTION 4

What is the minimum number of servers an Event Stream cluster in IBM Cloud must be composed of?
A. One

B. Two servers

C. Four servers in load balance

D. Three servers

Correct Answer: D

QUESTION 5

What is a key requirement of a resilient architecture?
A. Low tolerance level for interruption

B. High rate of resource utilization

C. Low rate of resource utilization

D. High tolerance level for interruption

Correct Answer: A
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